1FE45HEE
R —

HEE.8—2—8
M E10:00~ . @R E10:25~ . @HE 1050~ ., DFHEE11:15~,  ®FHE11:40~ . ®itE12:05~

Cca—hk
ci7ovy | SIEFC SASC AXSC |BR | fr|XR | EX|IEH
=i%FC 2C-1)2 3C-6)0 4 5 2 3 1
B ANSC 2C-M)2 2C-3) 1 4 4 3 1 2
7NESC 0C-B 3 10-®2 0 1 5 | 4] 3
c270vy |#HMEADESC| SIRESSS MEIRFC | BR | B8 | X8 | SR |IEf
FAF D EESC 0C-@0 8C-®0 4 8 0 8 1
=fEHSSS 0C-@0 7C-@ 0 4 7 0 7 2
INEJRFC 0C-® 8 0C-@7 0 0 15 | -15] 3
DI—Fk _ _ _ .
Di70vY | #MPFMESC | CTIFLESC| SEVRKS |Bim [ Fm | km | FX|IBG
HAFHBSC 0 D-D 11 0D-5)5 0 0o [ 16 |-16] 3
ZTlzLiasc] 11 D-MDo 4 D-3) 0 6 15 | 0o | 15 1
SEwkKS 5D-5 0 0D-Q 4 3 5 4 1 2
D2JOv% ZEISC__ | RAYFAJFC =/PKS | Bim | am | km | ek | B
&t]SC 0D-2 2 1 D-® 2 0 1 4 | 31 3
RHHRJIFC 2D-@0 0D-@ 3 3 2 3 | -1 2
=I/\KS 2D-® 1 3D-@0 | 6 5 1 4 1

FRE—F AR
A A . 8—2—8
@D E13:00~, @ E13:25~, QA& 1350~ W& 1415~ (DEH & 14:50~
5157 T DIHFEIFIHBDPKEITI,

12 s

O |43 cgﬁ 8#1 gﬁ Q_H O |45 AEE gﬁ
2 2 2 2 m|dE 2 2 Y RE
Akt |55 (LT SR £S5 (g% E[F =z
A I 1D S = D R S =
JiE | o Ul o #iwr|o V| o fu| o Il a |0
In R 4 1) Iz
9fsz
4 | o
1 i D 0
PK(1 C-@Q2) D-©

&Y]Sc
D2-3f1

7NESC

C1-3{i
INETRFC |

C2-3{i1

XFHESC
D1-3{




2F £ HHEH

FFTY—Y
HEE.8—2—8
M E10:00~ . @R E10:25~ . @HE 1050~ ., DFHEE11:15~,  ®FHE11:40~ . ®itE12:05~

Ad—Fk
NP R IFNIEFC | R"ESCS |BR | BR|Xs|BX]|IEf
¥84EISC 6 A-(1) 0 2 A-(6) 4 3 8 4 4 2

SIRISFC 0A-1 6 0A-3 6 0 0o [ 12 [-12] 3

7<ZESC-S 4 A-06) 2 6 A-3) 0 6 10 | 2 8 1

A2J0v7 | RESCR | EDESC | RERIA LM [ m | fam | km | ek [ IEh

7ESC-R 1A-20 0A-B 2 3 1 2 | -1 3
BADESC 0A-D 1 2 A-@ 0 3 2 1 1 1
"EI9« IR 2A-G0 0A-@ 2 3 2 2 0 2
Ba—k _ _ _ _

B1 7 D\yb -*JJE&\ESC ﬁﬁqz&ﬁso O(L/E]?’SC H%ll\\ ,%ll\\ %ll\\ ,%% JILE1—L
AR LVESC 3B-10 4B-50 6 7 0 7 1
=T/ ESC] 0B-1)3 1B-3 1 1 1 4 -3 2

2{LEFSC 0B-G 4 1B-03) 1 1 1 5 | -4 | 3

B2JOv% /NESC BREFC THOFARE | Bm | am | =m | ok | B

INESC 0B- 2 0B-® 0 1 0 2 | -2 | 3
BREFC 2B-20 0B-@ 2 3 2 2 0 2
IHHINE 0B-® 0 2B-@0 | 4 2 0 2 1
b —F AR
HE.8—2—8
@ E13:00~ . @i E13:25~. Qi & 13:50~ . (K& 14:15~ . (DiX & 14:50~
5 TDZEIELI3IDPKEITS,
Zh
4 | 2 ,
2 | ] A~ 2 | o )
A o 1 7 1 3 1
A-® B-@ B-®
2 ' 3 o IL 5
= = O 4 = = SERE] H A
T Al S| W = NI N |
m H|< Mo ¥ W(m < Q|m £ [<
g R H e
9{iL
1 | 2
o 4 BO® o | 4
©) B-©
8 =~ O |4y CF B 8
-If -If -If -If
o8 |28 |9 |xE
=1 fm| o ﬂ‘fK & ]
IL | < < v |m




	１年生
	２年生

